o +50V
+IZ
JAS200 =™
R15
1N4004
I 1 I 1?)%/\' bt
x x 22% S| T PINF
=8 238 “1" -Z% PINF T+E1
£ C7 _[100n 71 © Qf £33 .l c11 |100n
- 2SA1209 e+ = = N <N
]
100u| C15 10004 C9 PINF § & §§§
4 PINF T+B1 e e
Q5 o
RINF MJE15034|2
GND < o2 cND Q8 Q10
GND al= ._K MJ15004 _K MJ15004
Q2 Q3 A
25C2240 282240
<
INPUT o, PINF
—
3= | _ 2
O~ R1 SHORT FBK PINF ouT
—]——W— T - -
Tk = L1 PINF FBK PINF
N
%L 100p o § g,_f
4
X
c2| o=F 2N5551 PINF
AGND ey - + C5 Q6 o
R8 c—
) ,_K 470u - 00u! MJE15035§ 100n
u
27k +220n 2Z cs Q9 Q1
= MJ15003 MJ15003
L 470u C13 § A _k
100n —w
© L GND
Eig —— A;SZBB ;E‘—f PINF__|
c12 (] PINF T-B1
PINF < Z N
* e - =R 52R
x PINF T-E1 g oK
Py m - *
GND 10R 1N4004
L
100y [100n 1000u |100n
[ ]
C16 [*C17 cs[*C10 5>
& V- -50V
GND GND



